Efficiency vs hit

o 1.2
= o
°
g
>
(8]
=
o
QO
=
()
0.6
0.4
0.2
o ol T PRI RTETE IRTTY
=1
5]
¢ 15
g e NIEN N1 ) R N
10 15 20 25 30 35 40 45 50 55 60
TP hits
—— D! TOUUEVT
== Dovongmar 10@0&7'& -
2 BoM-fitteda 10008y
o BVt cpeoR 2000
Giend —— oM cpeOK_SORTRZZ 1000evt
[Efficiend == b COK-SORTRZZ-TESTOUTLIER 1000evt

[o2]

o

o

efficiency vs layers
o
Ul

o

I S

6 8 10 12 14 16 18 20 22 24
TP layers

Efficiency vs pixel layer

S oo o
o O o o ©

iciency vs pixel layers

o
o

0 1 2 3 4 5 6 7 8
TP pixel layers

0.05¢

10 12 14 16 18 20
TP 3D layers



	Contents
	Page 1


